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MANAGEMENT (PAPER—H)
!lime Allowed : Three Hours Waxirnum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and

in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

authorized one.
Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution tables are attached for necessary reference,
Attempts of questions shall be counted in chronological order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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ETUs—A / SECTION—A

1. (@) (i) @mﬁ?ﬁq%ﬁaﬁﬁmmﬁwﬁmﬁﬁmwwmw,w%ﬁmq

(b)

(c)

40% YA FT 8, GE0 e €, 35% wohmor w6t & i e ol € 25% e
U 8| et fein 1 32 3 0-04 3, g ot 1 3R 006 2 ofi it el ot 2
0-03 ? | T fot o Tl (streqe) & anefeises v & oA 7 sres 4 v 32 018 et 2| e
SFHET: TR, HL Stua e forfies % g0 e & ugor ) S St srear £1 sReerd
e Hifs

In a post office, three clerks were assigned to process incoming mail. The
first clerk, C;, processes 40%, the second clerk, C,, processes 35% and the
third clerk, C;, processes 25% of the mail. The first clerk has an error rate
of 0-04, the second clerk has an error rate of 0:06 and the third clerk has
an error rate of 0-03. A mail selected at random from a day’s output is
found to have an error. The Postmaster wishes to know the probability
that the mail was processed by the first, second or third clerk respectively.
Find the probabilities. -

(i) T o A w S § 3 2 R ofR weimg fs Buw e 25 3 2| Awett S et
wiaeraar #, freft w vy forg @, S99 wh-g@ =1 yREr w0 6 dareE £7

The odds that A speaks the truth is 3:2 and the odds that B speaks the
truth is 5: 3. In what percentage of cases are they likely to contradict each
other on an identical point?
ek el # 50 faneff ¥ srdfwmm (X) # Tl w1, Yerw (V) § Al W, S e
3Y -5X +180 =0 2| Yo & WitA TR 44 3 3R rdfure § T} 1 wewwr, weeed § e

%ww%%raﬁm&ﬁwmﬁﬁﬁﬁ%ﬁﬁq&ﬁ%ﬁamﬂmﬁ
Ao i)

There are 50 students in a class. The regression equation of marks in
Economics (X) on marks in Management (Y) is 3V -5X +180 =0. The mean

marks in Management is 44 and the variance of marks in Economics is %th of

the variance of marks in Management. Find the mean marks in Economics and
the coefficient of correlation between marks in the two subjects.

T Bl HTg FPoAt &1 Iearel A 3R B o o st 21 wedleh Seare % forg <) womwor sxgunit L
3R M T ¥ I e il ¥ DA srgemdt e ) mh s svery ¥ Seie A
Th oIS 1 L H WsAY 1el & 2 U2 IR M H 1 =2 & STevashdl aidl §1 I8 B W T ThE
ol VA0 & U L #1692 of M8 4 2 A amawrsa adt 21 amgam L A suesy g @
6000 52 & Sefh Agam M # @@t 10000 He ¥ s A & fou Fee g wfy g
¥ 350 2 3R 3= B % fag vl 3#E ¥ 5:00 %1 werdt ww Fad gais w1 st
=gl &1 '
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A light metal company manufactures two products A and B. Each product
must pass through two processing sections L and M. A good number of
machines are available in both the sections. One unit of product A requires
2 hours of processing time in L and 1 hour in M. One unit of product B
requires 1 hour of processing time in L and 4 hours in M. Total time available
in section L is 6000 hours whereas in section M, it is 10000 hours. The net
- profit for product A is ¥ 3-50 per unit and for product B is ¥ 5-00 per unit. The
company wishes to maximize the total net profit.

(Y

(i@

d

(i)

(i)

e =t U Was WO waen % w9 1§ gia A

Formulate the problem as a linear programming problem.

ﬁm@ﬁﬁwwqﬁmwmmmm~wﬁﬁm%%

B A A YR | AT hifstg |

Find the optimum production schedule that will maximize the total net
profit per week by graphical method or otherwise.

we-fermn wEfyonet, st gmmEm D_MAICWHF&%@W’(WW%, F Tk =Xl
& # 9o ifsre |

Describe briefly each step of the six-sigma methodology popularly known
as DMAIC methodology. 7

Aifeashyy Toran Framw #, = 3% g e ot ol 3 gra fsry’ ¥ de e s 27 S0 F
T e AR Tont % gr e % fore rftrehaw e @ gwie forn S e frar e
F-H & 7 | |

In statistical quality control, what is the difference between ‘control by

‘variables’ and ‘control by attributes’ What are the most popularly used

control charts used for ‘control by variables’ and ‘control by attributes’?

rcmﬁ—anﬁ (JIIT) frfrmior sorreht &, e Soem’ 1w ST S e T H RCERiBF:

I Heh Tl W 2aT 27 '

In Just In Time (JIT) manufacturing system, how does the ‘subsequent
process’ signal the ‘preceding process’ to produce the quantity required?

10

3+4+3=10

(e) FEIH BGR (e-aNMUSA) FT W1 27 FoRIGR gl HHg (EDI) @1 g 27
: e-afis i EDI & 37a9a @1 §7 e-a1fisg 3 EDI & @1 @9 a1 87

What is an Electronic Business (e-commerce)? What is Electroni¢c Data
Interchange (EDI)? What are the elements of e-commerce and EDI? What are
the benefits of e-commerce and EDI?

10
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2. (a) U FER FITR TR-gleR wERM S w1 fafwln or awl #§ wd {1 wwd wo § Fhee
1 il ® S 9T SIS R PR ST §; gE S g 6 s B afEE 6 aeeiid #i
S 2 A = A Y o S @ i S dum feRe S @ < = | Sl @
o7 Fpa s 2, G s & of wre R & A de e s §; ot o # @i, o e
ﬁ%ﬁ%mm@wwmw%ﬂﬂtaﬁqwﬁ%ﬁﬁﬁﬁsﬁmw%rm
6 yiE s @ Fle g 2, o aften o ae el i e simemaand Feted &
SgER B & 2

A furniture company manufactures four-drawer filing cabinets in six stages. In
the first stage, the boards forming the walls of the cabinet are cut; in the
second stage, the front door panels are woodworked; in the third stage, the
boards are sanded and finished; in the fourth stage, the boards are cleaned,
stained and painted with a clear finish; in the fifth stage, the hardware for
pulls, runners and fittings is installed; and in the final stage, the cabinets are
assembled. Inspection occurs at each stage of the process, and the average
percentages of good quality units are as follows :

= 1 2 3 4 5 6
Stage

afear qorar # sitaa Sidviaar (%) 87 91 94 93 93 96
Average percentage of good quality (%) '

SRl 1 s wnE ST A i fen s 3, R 300 s 1 ce R
5| a1 § SR 3 UM GUR S ST @RI Al ) geee e o forg fafmior e o S
1| w3 Frger 3 el i gee A, Al gd® e €9,00,000 o '

The cabinets are produced in weekly production runs with a product input of
300 units. The company later investigated the manufacturing process to
identify potential improvements that would improve quality. The company
identified two alternatives each costing ¥ 9,00,000 as follows :

fameq ol gUR
Alternative Quuality improvement
1 . =/ Stage 2:96% =7 / Stage 4:97%
2 =0 [/ Stage 5:97% =X / Stage 6:98%

(i) mw%m,rmw%ﬁﬁﬁ%w@mmwﬁu&wﬁﬁm

Determine the weekly p.roduct yield of good quality cabinets without
process improvement. ‘

A-RRE-M-NXER/35 : 4



(i) T T & s o % el s 7R At s

Which alternative will yield greatest increase in product of good quality
and why? :

(i) V- foee W S -y A s 7

‘Which alternative will be most cost-effective and why? 5+5+5=15

(b) o fafim fredt (am efifi X, Yaﬂxz)ﬁmwﬁu&wm@m%mrﬂﬁwm
wm%mwﬁwﬁmmﬁgﬁgﬁﬁa@ﬁ%m%mww

- Tl T o artee Feferfiga 9 : .
‘The determination of yields of three different varieties (say X, Y and Z) was

- subject of a recent experiment. Different blocks chosen at random from a larger
group were used for this purpose. The data recorded were as follows :

ﬁﬂﬂ/VaIietigs X ¥ -z
. @g / Blocks
1 12 16 30
) 10 18
3 7 28 35
& 10 26 o1

(i) 3 fE-vR affea sfwgl w1 fvdwo Hif

Analyze the above two-way classified data.

(i) @Rl % 5% W R @l i el %yt B whe S

Test for the effects of blocks and varieties at the 5% level of significance.

(i) Freton A B B-oh Rt o €, aR B @ @1 et 3w o 9 e e 37

Determine which varieties differ, if any. Is it possible to do the same with
the blocks? - & : 9+6+5=20

fc) Tk oo FAET Ff TR g Ry IR A W stae e w@ie ¥ R did o 9 d
@%Imﬁﬁ?GGOmﬁaﬁﬁﬁwﬁaﬂﬁUﬁm%tm:ﬂmm,%ﬁﬁaﬁaﬁ?ﬂ%
|1 6T Wl sfte 1 wEIIET 60% 1 AR W wfier Sfta s 3, @ 98 9 @ e W w5
% fore i ol & @ 91 & Tl o w31 7@ A Fewdn ¥ o 7 B = P
a;waﬁﬁ%,ﬁam(aaaam)maﬁmamw?ﬁ%,mwaﬁﬁa%ﬁwmmgﬁ
%W,W%me-ﬁmﬁﬁﬁmﬂﬁméw%lﬁﬁmimﬁ
& g wroft § Ry e § : _

A-BRE-M-NXUB/35 5 . (pToO.



An oil company is considering a bid for a shale oil development contract to be
awarded by the Central Government. The company has decided to bid
& 660 crores. The company estimates that it has a 60% chance of winning the
contract with this bid. If the firm wins the contract, it can choose one of the
three methods for getting the oil from shale. It can develop a new method for oil
extraction, use an existing (inefficient process), or subcontract the processing
out to a number of smaller companies once the shale has been excavated. The
results from these alternatives are given in the table below :

AT N AR @
Develop new process

R siferrat g @ Ft )
Outcomes Probability Profit € in crores)
TS gHEa 0-30 3,600
Great success | '
Hett Aot 0-60 1,800
Moderate success
frceran 010 ~600
Failure
T ST T S BT
Use present process .
=gl A 0-50 1,800
Great success '
Al when 0-30 1,200
Moderate success . .
e 0-20 -240
Failure
39-FfagT a7
Subcontract
Tt el 100 1,500
. _ Moderate success
ST T W MR w) @ e € 12 0% 31 AR s det T e R, @ 5w
& 180 Fie ¥ TEANE TH IR Iwieuss e # fEm w el

The cost of preparing the contract proposal is ¥ 12 crores. If the company does
not make a bid, it will invest in an alternative venture with a guaranteed profit
of ¥ 180 crores.

() o Rl Sl el = TtEa?

Should the company make the bid?
() R, @ e da frowdo i fra Rt s =ie?

If yes, what method for oil extraction should it adopt? 8+7=15

GJ&RQ—@—N}{G@I?.S ' 6



3.
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(@) IE AF BT CA it F gt s S £1 A 6 Tk 35E |1 B 1 g 3R C
2 g1l ¥ SIS SR ST ¥ | Wk 68 % o 4 il wfnedl ) sravgswar 9 &
Sf Wl SATE ST FHIA Bl TI0F TH] 6T & | WO C % Tw vge weiefiemr @it st R s
ST I SE Bl 81 W B % 0 Shaet qufihiener & smavadar St 21 30w A % o s
Tarselt wishan Bl SRR Bt }1 A R Wl § sar A ¥ R ane sere wwa-gE
(MPS) @1 T8 ¢ -
Product A is assembled from two parts B and C. One unit of A is assembled

from 1 unit of B and 2 units of C. Each item requires one or more operations
and the lead time everywhere is assumed negligible. Part C requires first

machining operation followed by heat treatment.

Part B requires only

machining operation. Product A requires an assembly operation. The Master
Production Schedule (MPS) for product A is given in the table below :

weT 1 2 < B 4 5 6
Month ‘

I A (S #) 100 150 100 | 200 195 100
Product A (in units)

S e Al e Al wroft # fimm g #

The process time data is shown in the table below :

Y

(i)

Hiawmr e F4 F7 A /T (9 )
Operation Item Work center Standard time/unit (in hr)
10 c Teffeor @5 - -
Machining
120 ¢ FET ITER 2:0
Heat treatment
30 B ayfi-ftestor , 10
Machining
40 A R s 05
Assembly -

THF F R W, A G Gl % a7 R w67

What will you recommend as normal capacity at each work center?

Ife IUTE A % U S 1 IeqTe 0 o f Feard A € 5,000 7, 39q= A fiffo ama
¥ 2,000 s 5§ &, iR wfer gors Wit o mrergsh W@ i @ See o 6 20% B, @
Y Y S AragE w@E Al & s w1 e w % i, B TR sar
T-g= (MPS) & Ryeif 817

If the setup cost to produce a batch of product A is ¥5,000, the
manufacturing cost of the product A is & 2,000 per unit and the inventory
holding cost per unit per year is 20% of the product cost, what Master

Production Schedule (MPS) will you recommend to minimize sum total of
setup and inventory holding costs?

[P.T.O.



(i) mvmﬁﬁwwmw—qﬁ(mpsﬁaamm,wcﬁm‘mmaﬁﬁw

- 87 '
Given the MPS in the table above, what is the schedule of gross

requirements of part C? : 5+10+5=20

(B) (@) T S FEh A S g o e A i o e % i w6

; W%iéﬁﬁﬁ@a@ﬁﬁ@ﬁ@m%mﬁﬁ%m@ﬁm-gﬁﬁ%w
maﬁ-maﬂt%-mmwﬁaﬁ@%:ﬁ@ﬁwm%m,aﬁﬁﬁ%
i%ma%,Wﬁaﬁﬁ%ﬁmﬁﬁ@mw%@ﬁﬁaﬁmﬁ?ﬁﬁﬁ%%ﬁmw%,
W%W,Wm%mﬁmﬁﬁﬁ%ﬁm%%ﬁtﬁmm@m%l
mmﬁmw%|mw%mmmmmaﬁ@ﬁﬁﬁ
FAT AR Bl 2

Forecast of demand for cakes made by a baking company needs to be
made with accuracy. The bakery markets cakes through a chain of food
stores. It has been experiencing over- and under-production due to
forecasting errors. The demand in dozens of cakes for the past four weeks
is shown in the table below. Cakes are made for sale on the following day,
for example, Monday’s cake production is for Tuesday’s sales and SO on,
The bakery is closed on Saturday. So Friday’s production must satisfy
demand for both Saturday and Sunday : i

27 4 WE G 3 WEYSS 2 HWE Uad) 1 #W78 g
Day 4 weeks ago 3 weeks ago 2 weeks ago 1 week ago
FER 2200 2400 2300 2400
Monday
T 2000 2100 2200 2200
Tuesday ;
Fom : 2300 2400 - 2300 2500
Wednesday ' ‘
TR 1800 1900 1800 2000
Thursday .
T 1900 1800 2100 2000
Friday ‘ ‘
wRER + TER 2800 2700 3000 2900
Saturday + Sunday

THTE 1, WHTE 2, WHIE 3 AR WHIE 4 61 % 9¢ 69T 0-40, 0-30, 020 3R 0-10 & wiRkG
mwﬁwmg,mm%m%mmmﬁi@mwm?
Using a weighted average of 0-40, 0-30, 0-20 and 0-10 for week 1, week 2,

week 3 and week 4 ago respectively, what is the weighted average forecast:
for Monday of the current week? '

A-BRE-M-NXUB/35 ' 8




(i) S s oft STl B ot o1 Sig IeureA & Guesn! i wheEl it Qe @ ¥ 9l R
HHTE o ToT sig |7 61 TEIAT 22000 T 91 371 Faet 21000 T it € areqa & aimgd o,
<t 3w ety i mrgofieter o o = 0+ 10 % Ter <reeareh) wygoftemor fafts 1 semme @ gu s
TWTE & o = qafgam g

The bakery also produces bread and is planning its purchases of
ingredients for bread production. If bread demand forecast for last week
had been 22000 loaves, and only 21000 loaves were actually demanded,
what would the forecast be for this week using exponential smoothing
method with smoothing coefficient o =0-10?

(iii) SRI 9 (if) T, 3 =1e] THTE & arEafess 7T 21500 91 S &, @ o0 = 0+ 10 1 SR
U e mguie i & g s v % R wn gatgae dme :

In part (ii) above, if actual demand in current week turns out to be 21500,
what will be the forecast for the next week with exponential smoothing
method, using a =0-10? 5+5+5=15,

() Xvzwe fsmeit R i 3, S s el udt of fra-fra 20 3w g % & 9
! Frcen @ Yem W §1 XYZ ey ot weew ofR fissn-fmtn ven @1 e
21 o= fiss A oSl @ wER & forg, S 6 A= R woh § faen w2, v w6 aew |
T HET TN BT R '

XYZ is famous for homemade pizzas which are crisp with thin crust and varied
toppings giving the pizzas fabulous tastes. XYZ is revamping its order
processing and pizza-making process. In order to deliver fresh pizza fast, six
work elements must be completed as shown in the table below :

e ' fararor geaiar T (e )
Element Description Precedence Time (in min)

A 3TTET T BT B 20
Receive order

B ' @ Fm A 1-0
Shape dough

C I ER A 2:0

Prepare toppings
D s St B C 30
~ Assemble pizza
E fow 5% = D 30
Bake pizza

F Tt T E 3-0

' Deliver pizza

() wom % o gdaffar o sEw

Construct a precedence diagram for the process.

d-BRE-M-NXUB/35 9 [P.T.O.



(i) ARt Rl (5:00 =AW A 1:00 5 T TH) 120 firssn &, ) WH o Tore =156 et
aftrer | T ¥ AT AT el T T hITNT |

If the demand is 120 pizzas per night (5:00 pm to 1:00 am), compute the
cycle time for the process. Compute the lead time for the process.

(iti) ST IE ) W % o e RIwi o grfaeh Aan e # g

What is the theoretical minimum number of workstations needed to
" achieve the required production?

(i) TR 120 RisT Sere 0 SR T 5 R ST S YT o Age (e SRR Y
Ry F EvE ATl 2aH He #4187

How will you balance the production line to produce and deliver 120 pizzas

per night? What is the actual minimum number of workstations needed?
3+3+346=15

4. (a) @qﬁﬁmWWLm%m@mﬁﬁﬁw%nﬁmmémmm
%ﬁﬁﬁmﬁﬁﬁqﬁw%imwﬁm@m@ﬂ@ﬂaﬁ%,mﬁﬁ@waﬁ
%mmw@t%aﬁa@ﬁ@%%lﬁm@ﬁmaﬁﬁﬁﬁ%%ﬁ,ﬁﬁqﬁm%
WWWWWHWW?W%IWLﬁWWW%@W
ﬁ%mﬁnﬁammﬁummﬁqﬁms&msﬁwmwmﬁmﬁm%ﬁ
Wa@ﬁmﬁﬁmm%wm%maﬁwa%ﬁ,m (3l e
mﬁ)m%ﬂmﬁmmaﬂtﬁm&ﬁﬁmmmmﬁmﬁw
W'ﬁﬂ,wmﬁWLaﬁwm%m,wﬁmnﬁaﬂrmmw
ﬁmwﬁﬁm,mﬁﬁﬁmmﬁ@mm%lw%m,%m
St & o el scaree et A w3 TR 1 e § S S S 81 WL o fehl
o e W R, o of s Rwmht % wffE % @y d3% #W A WE
W%WW%%,@M@%W{%%@WWD%&W
W%ﬁ%lﬂ%ﬁimﬁémﬁﬁm%mﬁm—@%mwﬁm%aﬂtWL%
aﬂgﬁﬁﬁﬁ%%&gﬁ&ﬁﬁ%ﬁsﬁéﬁaﬁm%ﬂ%l@a&wjmmmwm
WW,T@W@W@(CWR)W%WWLﬁ@W
g far @ T 21 CPFR s % e WL I 3l 1 few o =, o whimn oF =il %
m\ﬁ?ﬁimmﬁ‘:ﬂ‘gxﬁ,aﬁ87%%98%?13%?.:11%?411%&%@?%%7%&%
it 3 R 9 ST 80 W o THo eT A R AU IR F YA F TR B FAR
£ T § WL 3 CPFR FHwd @ oy @it yfisatell o geu wnsfiend o forearita et

% fom dovlz ®1 s & @ el

An antiseptic mouthwash is one of the major products of WL Company.
Materials collected from eucalyptus farms are shipped to WL'’s manufacturing

G—ERE—@—NHH(&I 35 10



plants. The mouthwash is purchased by thousands of retail stores, some of
them are giants like Walmart and many are small. The manufacturing plant
must forecast the overall demand to avoid high inventories or shortages. WL
decided to use Demand Planning Decision Support System (DSS) from a
well-known vendor of IT software. Used with other products in the vendor’s
Supply Chain Planning Suite, the system analyzes manufacturing, distribution
and sales data against expected demand and business climate information to
help WL decide how much mouthwash (and other products) to produce and
distribute and how much each raw ingredient is needed. For example, the
model anticipates the impact of promotions or of a production line being down.
The sales and marketing people at WL meet monthly with employees in
finance, procurement and other departments. The groups enter the expected
demand for mouthwash into a Capacity Planning DSS supplied by another
firm. The system schedules the production of mouthwash in amounts needed
and generates electronic purchase orders for WL’s suppliers. The innovative
Collaborative Planning, Forecasting and Replenishment system (CPFR)
program launched a few years ago has led to supply chain excellence at WL.
During CPFR pilot, WL increased its products’ shelf fill rate—the extent to
which a store’s shelves are fully stocked—from 87% to 98%, earning the
company about US $ 8 million a year in additional sales or equivalent of a new
product launch. Later WL decided to use Internet to expand the CPFR program’
to all its suppliers and retail partners.

(i) I Sae v (SCM) 2R 35m DSS % <t fa 5sR @ wmery 27

How are Supply Chain Management (SCM) and Enterprise DSS related?

(i) WL % wme &, 5 s DSS, &t STESAT DSS 37t CPFR %1 e bR O s@el
Sean # aftorm grar 27

In WL case, how do Demand Planning DSS, Capacity Planning DSS and
CPFR result in supply chain excellence?

(iii) fsdfa 9idt ERP 9om didt ERP @ g wenrt firm 27

How is second generation ERP different from first generation ERP?

(iv) wmﬁaﬁERPqﬁm%maﬁmmﬁmmw%? w1 Tt didt ERP
A H HEEe B dohdl a7

~ Can first generation ERP help achieve supply chain excellence? Can
second generation ERP help do this? - S5x4=20

A-BRE-M-NXUR/35 | 11 [P.T.O.



(b) S Achithem & R wlew Rvga AR §61 % urs 27 &1 9t A w9E & w2, T

(c)

YR o AH 3T qd F Z A ]| TTEH, U _SMEE, AW, Ul 3N B T ¥ YgEH W@
e & Th 91 Th ¥ AUS @ 8 Tohd ¢ | Qe Sl 9guH @i 96, @ THi (g a1
wig) ST A9 & g H A B ATEE FO A GH T | RO A TeAH FOI_IMEE, FO_FHW (T8,
FR, ARE@) IR 99Ul & gw il I B S B v S &1 smanel i weEE
IME_AEE, ARG M, 91 @ 2t ¥ @l R we ymEett @ wefEh @ gl

Design a model for banking application. Banks have customers. Banks are
identified by a code, name and address of the main branch. Customers are
identified by cust_id, name, address and phone number. A customer can have
one or more bank accounts. Accounts are identified by an account number,
account type (savings or current) and a balance. Customers can avail loans.
Loans are identified by loan_id, loan_type (home, car, personal) and an

- amount. Banks have branches. Branches are identified by Branch_ ID,

Branch_Name, Address. Accounts and loan are related to branches.
(i) el T oEEE i

Identify thé entities.
(i) @ % offe vy A Hifs)

Find the relationship among the entities.
(iii) |y 1 HIfEARE guTa g

Show the cardinality ratio of the relationship.
fiv) S a7 F Foit i iR 3 it it veEE A

Identify the key attributes and other aftributes of each entity.
(v) T ¥R ¥ R A e RRa |

Write relational scheme for branch and bank. 3x5=15

(i) HAtegt TR TR A 7 IgE R & T samy | e @ fafet o freamgds avla fifvm

Name three principal methods of creating database. Describe any two
- methods in detail,

(i) TR AT O e~ % W - Rofas o 57

What are the key differences between traditional commerce and
e-commerce?

(i) e-aTivd % R T B2B WewH ¥ oavas sifvme @ we fiv)

Explain the required features of a B2B platform for e-commerce.

7+4+4=15

Q-BRE-M-NXUB/35 | 12
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(b)

(c)

@

(e)

Tus—B [/ SECTION—B

FRER wHifG favewo & dwed & ‘gafy enegg’ @ v areed 27 ‘Seae wow’ o ‘e s’
foyeyor sawm % fou dgfy e & o # frw wor weEe 2@ €7 3 few wew e
FREAR & ‘Free’ & ofenfia w0 F geEs @ 87

In the context of business strategy analysis, what is ‘growth matrix’? How do
‘product scope’ and ‘market scope’ analysis help in developing the growth

‘matrix for a business? How do these help define ‘mission’ of a business?

sgeE FtE (MNCs) stfadeft 3w =t #n-wn o ofe aifal ageardt 82 sia sgudla
At (MNC) 2R g &9t (TNC) & &9 B v faves +=xa 87
What are the advantages and disadvantages that Multinational Corporations

(MNCs) bring to a host country? How' do you distinguish between MNC and
Transnational Corporation (TNC)?

m&wwﬁmﬁ@wﬁﬁ,mﬁﬁwmwﬁﬁwmﬁwwm
27 forell o & wuafors ae 1 favevw e w0t anavas dar 27 3 wfequlers wHifa %

Tuf # fr TR wEEs B9 27

In analyzing competitive strategy, what is the need to analyze the value chain
of a company? Why is it necessary to analyze the competitive forces in an
industry? How do these help in formulating competitive strategy?

sl =R R, o e R TR ‘gerers e 6 RE 3 fe 87
it & fra s & S 87 @

In international trade theory, how is ‘theory of absolute advantage" different
from ‘theory of comparative advantage’? Which of these is more preferred?
Why?

‘Fﬁaﬁa"rﬁr’wﬁmwmﬁ?wmwmﬁmmﬁm:ﬂ%%w-ﬁm
el T 27

What do you understand by the te'rm ‘public policy”? How is it classified? What
are the important elements of public policy?

Frafafeaa @ =t ufey it 3@ W amurfa Wt % W AR :

Read the case below and answer the questions based on it :

FH T TR ABC FIH H Go Tho To § UH N g off, S gerigel h BRIt ot

ST SHP] I BT Tk AfFeeh Y aretl 3 et =l 8, foreh! 50 <3 # 17000 g&H 31
1980 # Ft 4 gergol feser fry gu wideee d, AfQEl H fewil, wid gegend, =@l
S s Fedt 3 e el ) geRi ot wE ohe o o Rl R0 W A S i

10

10

10

10

10
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foran | e TR B & fore w3 it £ fghe B, s athfia fea, s sfioifia
forn o 3t Wl it T & & el o FR oo wdeniE! @ off S fawew 3l
fafercelia @ Wem Y| 1995 #, o THo H 700 &M &4 gU oft, wroft 7 foreht gared =0t
QIS 3 SO 1 0 T 1 ageE @ e wegw w0 g fayps et seen
AT FRE 48l Wam Hwm, w4 e g At XYZ F @Y 50/50 3w 3uW
Torfyd T | e | et 3 1 9IS go wHo sier FRw fem, st f swe wew FDI e
ABC 3 SMH # 394 3gwa &l wiisla aam & o, St @66 # go wded smia
forw | STt @R wereeht, et @ sl s, @) % fesma yee, s sdnta &
o I forked, 51 9t 1 3E¥ ABC % eigvia it wfassfa §UR 6 o1l 2006 @6 e %
ST # 600 ®R 81 ABC 3 ot # forean &t geme w9 @ 9l w1998 # 3w 60 e
AT ATl T forarft w6 SEen | 840 TmE Fo who gier # @liE Rl 1990 F w %
e § g qgEm, =W, gdds, =Eis, SR Sifer ok Takm § ©r @R saE §
SIS T EEEHieRw SR 3 Aftet @ wwey W g, s 3 o @ ons @) g S @
quican Tt arelt srefiey seafEt & giafda & G, e sl sro g gEed 6
Tl wmend off| 2002 9% FrE! 3 U § fawr fen, S e w=@ o 5w g
T A % W T I W A S | guh v 9 3wt g 3em fRw) 2006 § w3
TF gEq R I F 3@, PEd 3E go Wo To § A g9) w91 7M

Long ago ABC Company had a single store in USA selling premium roasted
coffee. Today it is a global roaster and retailer of coffee with over 17000 stores
in over 50 countries. In 1980, the company experimented with coffeehouse
format to sell the company’s premium roasted coffee and freshly brewed coffee
beverages along with a variety of pastries, coffee accessories, teas and other
products in tastefully designed coffeehouse setting. The company hired,
trained, motivated and compensated employees for superior customer service
giving stock option grants and medical benefits to even part-timers. In 1995,
with over 700 stores in US, the company explored foreign opportunities and
licensed its format in Japan. Realizing that pure licensing would not give it the
control needed, the company set up a 50/50 Joint Venture (JV) with a local
retailer XYZ. The company initially invested US $ 10 million, its first FDI. ABC
transferred some employees to the Japanese operation to replicate ABC’s
experience in Japan. Training of Japanese store managers, employees, design
parameters of the stores, stock options for Japanese employees were all meant
to replicate the ABC’s experience. By 2006, the company had 600 stores in
Japan. ABC continued with its overseas expansion aggressively. In 1998, it
purchased a British coffee chain with 60 retail outlets for US $ 84 million. In
late 1990s, it opened stores in Taiwan, China, Thailand, New Zealand, South

Korea and Malaysia. Starting initially with licensing and replication of other
practices followed in Japan, the company converted several of these into JVs or

wholly owned subsidiaries, partly due to funding problems of local partners. By
2002, the company expanded into Europe, beginning with a JV with largest
Swiss food service company. This was followed by JVs in other countries. In
2006, the company saw a major opportumty in China, which it beheved to be
‘the largest outside USA.

A-BRE-M-NXHER/35 4



(i) T8 RO ABC w1 eiigdieor WHIG | HigwT g7

Why did ABC become disenchanted with 11censmg strategy?

(ii) Wwwcwﬁawwﬁ%mémﬁwmﬁm%ﬁ? |

Why does ABC prefer to expand internationally through local joint
ventures? '

(iii) ABC % fau wanficelt o speafal Wt wgeh 3ewl & wiead @ yae & o1 o 87

What are the advantages for ABC of entry through joint ventures over
owned subsidiaries?

(iv) foesft gegeg faw (FDI) A -t B, ABC 311 2199 78 sty foar writfa =1,
8 dE T8 Hl 27

Which theory of Foreign Direct Investment (FDI) best explains the .
international expansion strategy adopted by ABC? 8+8+7+7=30

(b) = 2004 #, s et yerm FEw (FDI) smres 7 Gt fafo % 24% &1 wro =,
g MM § FAA 0-6% HT HRIT 47| M9H =R F, 7= @ F Brsf www FEw (FDI)
ITETE A IR B BE-H S@ WE w27

In the year 2004, inward FDI accounted for some 24% of capital formation in
Ireland, but only 0:6% in Japan. What do you think explains the difference in
FDI inflows into the two countries? : 10

(c) Wa T ufEismr yeeee =, fosivet s @ S 8, afEiset d, awor g iR et
wﬁaaﬁww%taaﬁwﬁéﬂ%{qﬁqﬁmwwaﬁﬁ?mﬁﬁaﬁﬁmﬁ
% T e &7

Project management in India, in particular of projects in infrastructure sector,
has been characterized by severe time and cost overruns. What are the major
factors accounting for these overruns? Currently, what are the estimates of
these overruns? , | 10

7. (o) Treffsa 39 9 aRe ol 38 W enaRa T & Te AR

Read the case below and answer the questions based on it :

T agEsm fafmtn weelt X % s oew § sy wwaa ww Y, e e s fafmif
o enfud R eml Tur, g g, e qed-aftfa sae ok AfE Y ofy oi sga
aiean se Wafd Tamt & g fafmiar 3 ve & a1t Il & fou g veem uw 6 ain g @
T TR F guret Reerd o T, T6 Seeg S 9ge R SN aeh fi sw oS oo

A-BRE-M-NXUB/35 15 [P.T.O.



uﬁmﬁﬁéﬁiﬁﬁaﬁm’m%wﬁmﬁﬁmwﬁ,mmé@mmﬁﬂw
urrr:naﬂaﬂ'vga?rml%ﬁﬂé@@m@mﬁvﬁaﬁmﬁ%@ﬁﬁmﬁaﬁmﬁ
mﬁﬁmﬁwmaﬁmﬁﬁ@rﬁ%ﬁwﬁéﬁ,%mﬁw%m%%@
mammwﬁmzwmm@%wﬁmﬁmwaﬁtmﬁ
w%m%mﬁﬁﬁmgﬁmﬁwﬁwmaﬂtr@wmmaﬂﬁmwmﬁ
ﬁ%ﬁwmmmmﬁwﬁwmwlmﬁmﬁﬂ%aﬁ
ﬁﬂfﬂ%sﬁﬁaﬁwwﬁqmaﬁﬁ@aﬁ@ﬁm%ﬁﬁﬁﬁ%mmm
Wwﬁla@ﬁwﬁwm%aﬁﬁlsﬁwwﬂwmmsﬁ%
mmwmﬁ,gﬁwmaﬂi@mﬁéﬁnwmeﬁlﬁwa@-a@
Wﬁ,s@ﬁwﬁaﬁwﬁm%ﬁnﬁﬂﬁm@wﬁaaﬁ%ﬁaﬁzmﬁmﬁm@qﬁ
Wmﬁﬂm@%na@ﬁmé@@%aﬁﬁwﬁﬁ%ﬂﬂﬂmmmﬁmﬁwﬁgﬁ
@W/mwwmam@wm@amwm@@
o |

An ice cream manufacturing company X had achieved remarkable success in
the State where the compaﬁy had established its manufacturing plant. Driven
by the quality, easy availability, image of innovative value-added product and
packaging, and very good brand promotion efforts, the manufacturer gained
rapid recognitioﬁ for his products in the State and soon became the dominant
player in the market, even though the prices charged were higher than most of
the many competing brands in the State. In fact, the company’s brand had
become synonymous with the ice cream itself. Slowly the brand began gaining
popularity outside the State as well. While earlier the company sold the
product outside the State through select outlets, it was clear that there was
strong potential for the company to expand greatly outside the State and
eventually emerge as a national player. The company found that it could not
hope to cash in the growing popularity of the brand by just expanding
manufacturing facilities in the State and distributing the product on
nationwide basis. Throughout the nation, there were numerous manufacturers
of ice cream, majority of them preferred to remain as local or regional players,
‘where they enjoyed good market positions. Very few brands had become truly
national brands. Companies that operated nationally offered generally
attractive prices, easy availability and convenience packaging. They had large
capacities, set up manufacturing facilities at a number of locations nationwide
and developed strong distribution and supply networks. They also invested
heavily in building brand image nationwide. All national players faced intense
competition from local/regional players as well as some niche players.

() e wrf ¥ g e 3 o e T A gla B ot

By what strategy did the company grow in its home State?

A-BRE-M-NXUR/35 16



(b)

(c)

(@)

(ii) mﬁmﬁ%%m@uﬁﬂmmmﬁmaﬁ%m%m@hﬁw@%wﬁwﬁ%
W,Wﬁmﬁﬁwmwﬁw%? ,

Can it compete nationally with the same strategy or will it need to modify
the strategy to emerge as a successful national player?

(iii) MXﬁwﬁﬁﬁmmﬁﬁmmﬁmﬁ%aﬁaﬁm A FATEY |

What are the distinguishing differences between company X strategy and

the strategy adopted by large national players? 7+7+6=20

I Y W’m%wm%?wmmﬁmﬁﬁm%mmwﬁ-ﬁ%w
2 &, e S 1 T ST &7 W o I (JSEs) ¥ wr-@ & fafm
TR &7 ST 3 fo JSE 1 -8 TR ST e T wia & Hgw ek SEl & 39
ISR WEGA hitwC |

What do you understand by the term oint sector’? What is the need for joint
sector when there are other well-defined sectors to promote industrial
development? What are the different types of Joint Sector Enterprises (JSEs)?
What type of JSE has been found to be suitable for India? Give some examples
of joint sector enterprises in India. :

Wﬁa&:ﬁ@ﬁmﬁ%ﬁqﬁ@ﬁmﬁﬁwﬁwmmﬁwﬁﬁﬁﬁwqﬁ@ﬁ
o off % veree § fFE YR weE 7 Py’ i wwEalt 1 S A /Y 9Rd & FrEsieh
ﬁmﬁ@ﬁ%mﬁq—ﬂﬁmmm%ﬁ -

Why is it necessary to have price and distribution controls of essential
commodities in India? How do these controls help manage demand and supply

of commodities? What problems do ‘controls’ cause? What are the key steps
taken to improve the public distribution in India?

@Mﬁamwﬁgaﬂﬁﬂmﬂﬂmﬁﬁmmwm@naﬁmgm
%ﬁaﬁmaﬁmwwmlﬁﬂaﬁﬁﬁaﬁ,mﬁ@mﬁﬁwa&mg&a
T % fore, wfafda = (st gean T S <, nif) @, QO iR e wfd e
5% fore e 76 el e o, S Rl T s e 3w s frem 0 % for
@n&fﬁﬁﬂwaﬁ%ﬁ%mﬁmﬁaﬁwaﬁ%mmssmﬁammﬁ
qﬁaﬂqm%?ﬁmm,ﬁ_ﬁam?Qmmemiﬁaﬁmﬁw
E@mﬁmwﬁm,mmﬁmfﬁqmwmmﬁmw:w
w,m@wﬁ%:ﬁwmiﬁﬁmﬁmmmmﬁqw%:

15

15
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A textile mill was inspected by government safety inspection team and found to
be in violation of a number of safety regulations. The inspectors ordered the
mill to alter some existing machinery to make it safer (i.e., add safety guards,
etc.); purchase some new machinery to replace older, dangerous machinery;
-and relocate some machinery to make safer passages and unobstructed
entrances and exits. The mill was given only 35 weeks to make the changes. If
the changes were not made by then, the mill would be fined ¥ 2 crores. The mill
determined the activities to be completed, prepared three time estimates for
each activity namely : pessimistic time, optimistic time and most likely time.
Table below gives the data compiled by the mill :

Fdeed fereror HHeATT (g qaaar) " g (9NTE W)
Activity Description Activity (immediate Time estimates (in weeks)
| prgdecessor ) é - b
1 7% a1 e = 1 2 3
Order new machinery
2 @ i T A s — 2 5 8
Plan new physical layout '
3 e uiEdHT o i w5 = | 1 3 5
Determine safety changes
4 IYER ST BT & 1 4 10 25
Receive equipment
5 A wie fgw = 1 3 7 12
Hire new employees
6 HF T BT 2 - 10 15 25
Make plant alterations
7 formm wefit & s"ema @ _ 3 5 9 14
. Make changes in existing
machinery
8 T =it =y e 3 4, 5 2 3 7
Train new employees )
9 7§ weftd v e 4,5, 6 1 4 6
Install new machinery _
10 el Wi et we 4,5,6,7 & 5 10
Relocate old machinery :
11 e guen Afnges et FE 8,9, 10 2 2 2
Conduct employee safety
orientation
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(i) qfeer ) st 2wty @ Rt S
Determine the expected duration of the project.
(i) i i i HRiEET] B GEE i
" Identify the critical activities in the project.

(iii) ﬁam?ﬁﬁgzﬁmmm,waﬁﬁu@ww% :
What is the probability that the mill will be fined 2 crores? 10+5+ 10=25

(b) wﬁﬁm%ﬁ%AaﬁB%wmﬁﬁmw%,mﬁwmmﬂam% '
mm%mmw%lwﬁwﬁwaﬁzoomwﬁs%ﬂAaﬁ 1A
Fr e wE % 10@@3&@(1@%%@%@20@@@%%
%1%&13%%{1@%6&1&%%@40@%@:1&%3&1%@%@10@%
ﬁm%lmﬁm%wﬁtwéﬁa@m%m@ﬁ@%w%t

Assume two countries A and B have the same amount of resources which can
be used to produce either rice or cocoa. A total of 200 units of resources are
available. Country A needs 10 resources to produce 1 tonne of cocoa and
90 resources to produce 1 tonne of rice. Country B takes 40 resources to
produce 1 tonne of cocoa and 10 resources to produce 1 tonne of rice. Assume

a linear relationship between production and resources consurmned.
() 3@ A sl B R sTem-orer I G e (PPF) =1 EtE TR

Draw the Production Possibility Frontier (PPF) for countries A and B
respectively. '

(ii) m%ﬂﬁqﬁaﬁ%mw-@%wwwﬁmaﬁ%aﬂtﬁmméﬁ%%a‘ﬁmm

- ﬁaﬁz@wwww&%lmsﬁf\m%éwﬁlﬁﬁm% 1 2 % Y SSen-s&ed!
& UHd © aﬁtﬁaﬁaaﬂwﬁmaﬁﬁémm%@mA,%ﬂBaﬁm% 6 2= fafa
m%aﬁtmﬁﬁw%ﬁﬂwmwéW%lwwm%Waﬁ%ﬁ%Waﬂt
W%ﬁgﬁmﬁ,ﬁwﬁwﬁﬂmﬁ%ﬁ,wmﬁmaﬁmmwm
=1 e m~mmw@m,ﬁeﬁwﬁmmﬁ%gﬁa@rmwaﬁaﬁqm?

Assume both countries engage in trade with each other and decide to
produce only that item in which they have absolute advantage. Assume

. they can swap 1 tonne of rice for 1 tonne of cocoa and the unit price of rice
and cocoa are equal. Country A exports 6 tonnes of cocoa to country B and
imports 6 tonnes of rice in return. What will be the change in combined
output of cocoa and rice of the two countries as a result of the trade,
compared to what would have been possible before specialization and
trade, with each country devoting half of its resources each to produce
cocoa and rice? 5+10=15
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() s Py e & & Pef a1 e w37 e & Pl A swnd
fyfig Rt} war-an @ 37 w0 Faa faREee @ el @ 22 :

What do you understand by the term ‘privatization™ What is the rationale for
privatization? What have been various methods adopted for privatization in
India? Does ‘disinvestment’ alone constitute privatization? 10

* kK
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[ Values of t for given probabilities P =Prob. (|t|>to) ]

TABLE-I

SIGNIFICANCE POINTS OF ¢t

Probability (P)

Degrees of
freedom 0-10 0:05 0-02 0-01
15 631 12-71 31-82 63-66
) 2:92 430 697 093
3 2:35 3-18 4-54 584
4 2-13 278 375 4-60
5 2:02 2:57 337 4-03
6 1-94 245 3-14 371
7 1-90 2-37 3:00 350
8 1:86 2-31 2:90 336
9 1-83 226 0-82 3-25
10 1-81 223 2-76 3-17
11 1-80 220 2:72 311
12 178 2-18 268 3-06
13 1-77 2:16 2-65 301
14 176 2:15 262 298
15 1-75 2:13 2:60 295
16 175 212 2:58 2:92
17 1-74 2-11 2:57 2:90
18 1-73 2-10 2:55 288
19 173 2-09 2:54 286
20 1-73 2:09 253 2-85
21 1-72 2-08 2:52 2:83
22 1-72 2:07 2-51 2-82
23 171 2-07 250 2-81
24 171 2:06 2:49 2-80
25 171 2:06 2:49 2-79
26 1-71 2:06 2:48 278
27 1-70 2:05 247 277
28 1-70 2:05 2:47 2:76
29 1-70 2:05 2-46 276
30 1:70 2:04 246 275
G-BRE-M-NXUB/35 21
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TABLE-II
SIGNIFICANCE POINTS OF F
( 5% values )

Degrees of freedom (ny)

Degrees of

freedon lg) 1 2 3 4 5 5 7 8 . 9 s
1 16140 199-50 21570 224-60 23020 234-00 236:80 23890 24050 254-30
2 1851 1900 1916 1925 1930 1933 1935 1937 1938 19-50
3 1013 955 9-28 9-12 901 894 8:89 8:85 8:81 8:53
4 771 654 659 639 6:26 616 609 6:04 6-00 963
5 661 579 541 5-19 5:05 495 . 488 482 477 4-36

6 599 514 476 - 453 439 428 421 415 410 367
7 559 474 435 412 397 387 379 373 368 323
8 537 446 407 384 369 358 350 344 339 293
9 512 426 386 363 348 337 329 323 318  27L

10 496 410 371 3:48 3-33 322 314 307 3-02 2:54
11 4-84 398 3-59 3:36 3-20 3:09 301 2-95 290 2-40
12 475 388 3:49 326 3-11 300 291 2-85 2-80 2:30
13 4-67 3:80 341 3-18 3-:02 2:92 2:83 277 271 2:21
14 460 374 3:34 3:11 2:96 2-85 276 2:70 2:65 2:13
15 4-54 368 3:29 3:06 2-90 279 271 2-64 2-59 2:07
16 449  3-63 324 3-01 2:85 274 2:66 2:59 2-:54 2:01
17 445 359 3-20 2:96 2-81 270 2-61 2:55 2:49 1-96
18 441 355 3-16 2:93 2077 2:66 2:58 2:51 246 1-92
19 4-38 3-52 313 2-90 2:74 2:63 2-54 2-48 2-42 1-88
20 . 4-35 349 3-10 2-87 271 2:60 2:51 2:45 2-39 1-84
30 4-17  3-32 2:92 2:69 2-53 242 233 2:27 200 1-62
oo 384 300 2:60 2:37 221 2-10 2:01 1-94 1-88 1-00
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TABLE-II (Contd.)
SIGNIFICANCE POINTS OF F

( 1% values )

Degrees of Degrees of freedom (n;)
freedan. (ng) 1 2 3 4 5 6 5 8 9 o

1 4052 4999 5403 5625 5764 5859 5928 5981 6022 6366
2 98:50 9900 9917 9925 9930 9933 9936 9937 9939 99-50

5 B 34-12 30-82 2946 2871 2824 2791 27-67 2749 2735 2613
4 21’20 1800 1669 1598 1552 1521 14-98 1480 1466 1346
5 1626 1327 12:06 11-39 1097 1067 1046 1029 10-16 9:02
6 1375 10-92 978 9-15 8-75. 8-47 826 8-10 798 688
7 12-25 9:55 845 7-85 746 7-19 699 6-84 6-72 5-65
8 11-26 8-65 7-59 701 6-63 6:37- 618 6-03 D9l 4-86
9 10-56 802 699 642 606 5:80 _ 561 547 5:35 4:31 =
10 10-04 7-56 6:55 549 564 5-39 520 506 4-94 391
11 9-65 7-21 622 567 532 207 4-89 474 463 360
12 9-33 693 595 541 506 4-82 464 4:50 4-39 3:36 -

" Ral 9-07 670 574 521 4-86 4-62 4-44 4-30 4-19 317
14 8-86 551 5-56 504 4-69 4:46 428 4-14 4-03 3-00
18 8-68 6:36 542 4-89 4:56 - 4-32 4-14 400 3-89 2-87
16 853, 623 5-29 4-77 4-44 420 4-03 3-89 378 275
17 8:40 6-11 518 4-67 4-34 4-10 3-93 379 3-68 2-65
18 8-29 6:01 5-09 4-58 425 401 3-84 371 3-60 2:57
19 818 593 501 450 417 3-94 377 3-63 3:52 2:49
20 810 5'85 4-94 443 - 4-10 3-87 3-70 3:56 346 2-42
30 7°56 5-39 451 4-02 370 3:47 3-30 317 3:07 201
oo 6-63 4-61 378 332 302 2:80 2-64 2-51 2:41 1-00

A-BRE-M-NXUR/35 23 BS4—400





